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Options 1.

2

3.

them.

4. to identify home influence on students.

Q.1 In teaching learning context, results of an evaluation are useful to teachers in various ways.
Which among the following is most important use for a teacher ?

getting information about student’s study interests.

to decide placement of students in other institutions.

planning instruction and knowing the effectiveness of the teaching strategies used by

Question Type :

Question ID :
191394338418
Option 21D :

Option 1 ID

Option 3 ID
Option 4 ID
Status

McQ
9139439779

91394338419

1 91394338417
1 91394338420
: Answered

Chosen Option :

3

Options 1 Pl’ i.lTlE'

2. Ordinal
3. Absolute

4. Nominal

. e Kind of numbers whic 0 not represent amounts but mnstead represent kKind (different
Q.2 The kind of b hich d P but i 1 rep kind (diff
qualities, types or categories) are called as :

Question Type :

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
9139439783
91394338435
91394338434
91394338436
91394338433
Answered

4

Q.3




The characteristics of scientific method of research are :

(a) Empiricism (b)  Objectivity (c) Systematic
(d) Secretive () Security related (f)  Predictive
Code :

Options

1. (0),
2. (d), (
(a), (b
(

+ (a),

w

Question Type : MCQ
Question ID : 9139439780
Option 1 1D : 91394338422
Option 2 1D : 91394338423
Option 31D : 91394338424
Option 4 1D : 91394338421
Status : Answered
Chosen Option : 3
Q.4 Which among the following best describes emotional intelligence as a learner characteristic ?
(a)  Recognise their own and other people’s emotions
(b)  Expressing their emotions strongly
(¢)  Use emotional information to guide thinking and behaviour
(d) Good observation, scientific thinking and deductive reasoning
()  Adjusting emotions to adapt to environments
() Being creative and open to diverse view points
Code
Options
(@), () and (e)
2 (c), (e) and (f)
* (b), (d) and (e)
+ (), (d) and ()
Question Type : MCQ
Question ID : 9139439775
Option 11D : 91394338403
Option 2 ID : 91394338402
Option 3 ID : 91394338404
Option 4 ID : 91394338401
Status : Answered
Chosen Option : 1

Q.5 Which among the following can best be used as an asynchronous teaching aid ?
(a) Skype (b) Blog ()  Facebook post
(d) Online chat (¢) Email (f)  Google Hangout
Code :
Options

- (a), (0) and (f)
2 (b), (c) and ()




4 (a), (b) and (c)
Question Type : MCQ
Question ID : 9139439776
Option 11D : 91394338405
Option 2 1D : 91394338408
Option 31D : 91394338406
Option 4 1D : 91394338407
Status : Answered
Chosen Option : 2
Q.6 5 "
The goal of formative assessment is to :
Options 1.
Monitor student learning to provide ongoing feedback
2. Promote student to next level
3.
Compare student learning against a standard or benchmark
4.
Form a group of students on the basis of their learning
Question Type : MCQ
Question ID : 9139439777
Option 11D : 91394338410
Option 2 1D : 91394338409
Option 31D : 91394338411
Option 4 1D : 91394338412
Status : Answered
Chosen Option : 1
Q7 Poster sessions in research conferences provide better opportunities for :
Options . -
prons,. Inter-personal interactions
2. Focus group discussions
3. Formal speeches
4. Display of common interest
Question Type : MCQ
Question ID : 9139439784
Option 11D : 91394338440
Option 2 ID : 91394338439
Option 3 ID : 91394338437
Option 4 ID : 91394338438
Status : Answered
Chosen Option : 4

Q.8




In a research setting, participants may act differently because they think they are getting
special attention. This reaction of treatment group to the special attention rather than the
treatment itself is called as :

Options

1. Jung effect

2. Hawthrone effect
3. Attention deficit

4. Marlov effect

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
9139439781
91394338427
91394338425
91394338426
91394338428
Answered

3

Q.9  When a reviewer reviews a research article without knowing the author’s name, it is referred
to as :

optons; Uncategorised review

2. Blind review

3. Behind - the - curtain review

4. AIIUII)IIHUUS review

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option: 2

McQ
9139439782
91394338432
91394338431
91394338430
91394338429
Answered

Q.10 In a school, in which there are large number of failures, you may like to develop test for
eliminating those who are likely to have substantial difficulties in meeting the academic
goals of teaching. For this you need to develop test which should be able to predict the
individual’s ability or readiness to undertake the study of a school subject successfully. What
is the name of such tests ?

Options .
PP 1. Prognostic tests

2. Attitude tests
s. Analytical tests

4. Achievement tests

Question ID
Option 1 ID
Option 2 ID

Question Type:

McQ

1 9139439778

1 91394338413
1 91394338415




Option 31D :
Option 41D :
Status :
Chosen Option :

91394338416
91394338414
Answered

4

Q.11

Comprehension:

Read the passage carefully and answer questions 11 to 15 :

Today, in the digital age, who owns information owns the future. In this digital world, we
face a fundamental choice between open and closed. In an open world information is shared by
all freely available to everyone. In a closed world information is exclusively owned and controlled
by a few. Today, we live in a closed world a world of extraordinary and growing concentrations
in power and wealth. A world where innovation is held back and distorted by the dead hand of
monopoly; where essential medicines are affordable only to the rich, where freedom is threatened
by manipulation, exclusion and exploitation; and each click you make, every step you take, they
will be watching you. By contrast, in an open world all of us would be enriched by the freedom to
use, enjoy and build on everything from statistics and research to newspaper stories and books,
from software and films to music and medical formulae. In an open world, we would pay innovators
and creators more and more fairly, using market-driven remuneration rights in place of intellectual
property monopoly rights. As they have improved, digital technologies have taken on ever more
of the tasks that humans used to do, from manufacturing cars to scheduling appointments. And
in the next few decades, artificial intelligence may well be not only driving our cars for us but
drafting legal contracts and performing surgery. On the face of it, we have much to gain if machines
can spare us tedious or routine tasks and perform them with greater accuracy. The danger, though,
is that robots run on information-software, data algorithms and at present the ownership of this
sort of information is unequal. And because it is protected by our closed system of intellectual
property rights.

SubQuestion No : 11

Which of these characteristics of a closed world ?
(a) Concentration in power and wealth increases.
(b) Innovation is controlled.

(c)  Only the rich have access to medicines.

(d) Freedom is manipulated.

( Information is shared by all.

(f)  Creativity is recognised.

Code :

P (d), (e), (f) and (a)

2 (b), (¢), (d) and (e)
-(©), (d), (¢) and (f)
(a), (b), (¢) and (d)

r

w

4.

d (
d (

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status

Chosen Option :

McQ
9139439787
91394338448
91394338446
91394338447
91394338445

: Answered

4

Comprehension:




Q.12

Options

Read the passage carefully and answer questions 11 to 15 :

Today, in the digital age, who owns information owns the future. In this digital world, we
face a fundamental choice between open and closed. In an open world information is shared by
all freely available to everyone. In a closed world information is exclusively owned and controlled
by a few. Today, we live in a closed world a world of extraordinary and growing concentrations
in power and wealth. A world where innovation is held back and distorted by the dead hand of
monopoly; where essential medicines are affordable only to the rich, where freedom is threatened
by manipulation, exclusion and exploitation; and each click you make, every step you take, they
will be watching you. By contrast, in an open world all of us would be enriched by the freedom to
use, enjoy and build on everything from statistics and research to newspaper stories and books,
from software and films to music and medical formulae. In an open world, we would pay innovators
and creators more and more fairly, using market-driven remuneration rights in place of intellectual
property monopoly rights. As they have improved, digital technologies have taken on ever more
of the tasks that humans used to do, from manufacturing cars to scheduling appointments. And
in the next few decades, artificial intelligence may well be not only driving our cars for us but
drafting legal contracts and performing surgery. On the face of it, we have much to gain if machines
can spare us tedious or routine tasks and perform them with greater accuracy. The danger, though,
is that robots run on information-software, data algorithms and at present the ownership of this
sort of information is unequal. And because it is protected by our closed system of intellectual
property rights.

SubQuestion No : 12

What is the impact of digital technologies on the present day world ?

1. Tedious tasks see an upward trend.

2. Mechanical accuracy is distorted.

3. Human tasks are performed by machines.

4 Creativity is sidelined.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
9139439789
91394338455
91394338454
91394338456
91394338453
Answered

3

Q.13

Comprehension:

Read the passage carefully and answer questions 11 to 15 :

Today, in the digital age, who owns information owns the future. In this digital world, we
face a fundamental choice between open and closed. In an open world information is shared by
all freely available to everyone. In a closed world information is exclusively owned and controlled
by a few. Today, we live in a closed world a world of extraordinary and growing concentrations
in power and wealth. A world where innovation is held back and distorted by the dead hand of
monopoly; where essential medicines are affordable only to the rich, where freedom is threatened
by manipulation, exclusion and exploitation; and each click you make, every step you take, they
will be watching you. By contrast, in an open world all of us would be enriched by the freedom to
use, enjoy and build on everything from statistics and research to newspaper stories and books,
from software and films to music and medical formulae. In an open world, we would pay innovators
and creators more and more fairly, using market-driven remuneration rights in place of intellectual
property monopoly rights. As they have improved, digital technologies have taken on ever more
of the tasks that humans used to do, from manufacturing cars to scheduling appointments. And
in the next few decades, artificial intelligence may well be not only driving our cars for us but
drafting legal contracts and performing surgery. On the face of it, we have much to gain if machines
can spare us tedious or routine tasks and perform them with greater accuracy. The danger, though,
is that robots run on information-software, data algorithms and at present the ownership of this
sort of information is unequal. And because it is protected by our closed system of intellectual
property rights.

SubQuestion No : 13




The crux of the passage contains the following statements :
a) Digital technology is dangerous.

b)  Those who own information will own the future.

(

(

()  Artificial intelligence will do the human tasks.

(d) Monopoly of digital technology has led to unequal ownership of information.
(

e) Intellectual property rights should be protected in an open world.

Options

Question Type : MCQ
Question ID : 9139439790
Option 11D : 91394338457
Option 2 ID : 91394338459
Option 3 1D : 91394338458
Option 4 1D : 91394338460

Status : Answered

Chosen Option : 3

Comprehension:

Read the passage carefully and answer questions 11 to 15 :

Today, in the digital age, who owns information owns the future. In this digital world, we
face a fundamental choice between open and closed. In an open world information is shared by
all freely available to everyone. In a closed world information is exclusively owned and controlled
by a few. Today, we live in a closed world a world of extraordinary and growing concentrations
in power and wealth. A world where innovation is held back and distorted by the dead hand of
monopoly; where essential medicines are affordable only to the rich, where freedom is threatened
by manipulation, exclusion and exploitation; and each click you make, every step you take, they
will be watching you. By contrast, in an open world all of us would be enriched by the freedom to
use, enjoy and build on everything from statistics and research to newspaper stories and books,
from software and films to music and medical formulae. In an open world, we would pay innovators
and creators more and more fairly, using market-driven remuneration rights in place of intellectual
property monopoly rights. As they have improved, digital technologies have taken on ever more
of the tasks that humans used to do, from manufacturing cars to scheduling appointments. And
in the next few decades, artificial intelligence may well be not only driving our cars for us but
drafting legal contracts and performing surgery. On the face of it, we have much to gain if machines
can spare us tedious or routine tasks and perform them with greater accuracy. The danger, though,
is that robots run on information-software, data algorithms and at present the ownership of this
sort of information is unequal. And because it is protected by our closed system of intellectual
property rights.

SubQuestion No : 14

.14 . 5
" How will an open world function ?

Options . * "
PR, Information is available to everyone

2. With limited choices
3. Information is controlled

4. Information is exclusive

Question Type : MCQ
Question ID : 9139439786
Option 1 1D : 91394338442




Option 2 ID : 91394338441
Option 3 1D : 91394338444
Option 4 ID : 91394338443
Status : Answered
Chosen Option : 1
Comprehension:
Read the passage carefully and answer questions 11 to 15 :
Today, in the digital age, who owns information owns the future. In this digital world, we
face a fundamental choice between open and closed. In an open world information is shared by
all freely available to everyone. In a closed world information is exclusively owned and controlled
by a few. Today, we live in a closed world a world of extraordinary and growing concentrations
in power and wealth. A world where innovation is held back and distorted by the dead hand of
monopoly; where essential medicines are affordable only to the rich, where freedom is threatened
by manipulation, exclusion and exploitation; and each click you make, every step vou take, they
will be watching you. By contrast, in an open world all of us would be enriched by the freedom to
use, enjoy and build on everything from statistics and research to newspaper stories and books,
from software and films to music and medical formulae. In an open world, we would pay innovators
and creators more and more fairly, using market-driven remuneration rights in place of intellectual
property monopoly rights. As they have improved, digital technologies have taken on ever more
of the tasks that humans used to do, from manufacturing cars to scheduling appointments. And
in the next few decades, artificial intelligence may well be not only driving our cars for us but
drafting legal contracts and performing surgery. On the face of it, we have much to gain if machines
can spare us tedious or routine tasks and perform them with greater accuracy. The danger, though,
is that robots run on information-software, data algorithms and at present the ownership of this
sort of information is unequal. And because it is protected by our closed system of intellectual
property rights.
SubQuestion No : 15
Q15 What is the status of intellectual property rights in an open world ?
Options .
PP They are monopoly rights
2. Replaced by remuneration rights
3. Medical formulae are restricted
4. Protected proprietorial rights
Question Type : MCQ
Question ID : 9139439788
Option 11D : 91394338449
Option 2 ID : 91394338451
Option 3 ID : 91394338450
Option 4 ID : 91394338452
Status : Answered
Chosen Option : 2
Q.16 The next term in the letter series DY, |[X, OW, SV, VU, __is:
Options YT
2 WV
3. XT
4. XS
Question Type : MCQ
Question ID : 9139439798
Option 11D : 91394338492
Option 2 1D : 91394338489
Option 3 1D : 91394338490




Option 4 1D : 91394338491
Status : Answered
Chosen Option: 3

Q.17 "
Inductive argument proceeds from :
Options - .
1. Universals to Particulars
2. Particulars to Particulars
3. Particulars to Universals
4. Universals to Universals
Question Type : MCQ
Question ID : 9139439804
Option 11D : 91394338515
Option 21D : 91394338513
Option 31D : 91394338514
Option 4 1D : 91394338516
Status : Answered
Chosen Option : 3
Q.18 Given below are two premises with four conclusions drawn from them (taking singly or
together). Which of the following conclusions could be validly drawn from the premises ?
Premises : (i)  All cats are animals.
(i) Birds are not cats.
Conclusions :  (a) Birds are not animals.
(b)  Cats are not Birds.
(c)  All animals are cats.
(d) Some animals are cats.
Select the correct answer from the code given below :
Code :
Options
1. (b), () and (d)
2 (@) and (c)
3 (a), (b) and (d)
4 (b) and (d)
Question Type : MCQ
Question ID : 9139439803
Option 11D : 91394338512
Option 2 1D : 91394338511
Option 31D : 91394338509
Option 41D : 91394338510
Status : Answered
Chosen Option : 3
Q.19 & " e
Classroom communication has a basis in :
Options . "
. Non-informative cues




2. Intensive listener focus
3. Attention diversion

4. Audience fragmentation

Question Type : MCQ
Question ID : 9139439795
Option 11D : 91394338478
Option 2 ID : 91394338480
Option 3 1D : 91394338479
Option 4 1D : 91394338477

Status : Answered

Chosen Option : 2

Q.20 The challenging behaviours of students as related to communication are :

(a) purposive challenges (b) critical challenges

(¢)  procedural challenges (d) evaluation challenges
(e)  practicality challenges (f)  power challenges
Code :

Options _- (d)’ (E-), (f) and (ﬂ)

Question Type : MCQ
Question ID : 9139439794
Option 11D : 91394338476
Option 2 ID : 91394338474
Option 3 1D : 91394338475
Option 4 1D : 91394338473

Status : Answered

Chosen Option : 4

Q21 Effective classroom communication would help students internalise :
(a) Knowledge (b) Subject matter
(c) Articulation (d) Language felicity
() Non-responsiveness (f)  Modalities of resistance
Code :

"1 (@), (b), () and (d)

Question Type : MCQ
Question ID : 9139439793




Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :

Chosen Option :

91394338469
91394338470
91394338471
91394338472
Answered

1

Statements :

(a) All men are humans.

(b) Some men are humans.

() Some men are not humans.
(d) No men are humans.

Select the code that represents them :

Q22 Among the following statements, two are contradictory to each other.

Code :
Options
(a) and (b)
2. (b) and ()
3. (@) and (c)
4 (a) and (d)
Question Type : MCQ
Question ID : 9139439805
Option 11D : 91394338517
Option 2 ID : 91394338520
Option 31D : 91394338519
Option 4 ID : 91394338518
Status : Answered
Chosen Option : 3
Q.23 AN
In verbal communication, words act as :
Options .
1. Fillers
2. Symbols
3. Decoratives
4. Passive barriers
Question Type : MCQ
Question ID : 9139439791
Option 11D : 91394338461
Option 2 1D : 91394338463
Option 31D : 91394338462
Option 4 1D : 91394338464
Status : Answered
Chosen Option : 2

Q.24

Which of these words is different from the rest ?




Options

1. Huge
2. Tall

3. Sharp
4. Thin

Question Type :
Question ID :
Option 11D :

Option 2 ID
Option 3 ID

MCQ
9139439799
91394338494

1 91394338493
1 91394338496
Option 41D :

91394338495

Status : Answered
Chosen Option : 1

my father’s wife”.

Opti .
Pions . Cousin

2. Aunty

3. Sister

How is the girl playing with the doll is related to Ram ?

4. Sister-in-law

Q.25 Ram said to Shyam, “That girl playing with the doll, is the younger of the two daughters of

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
9139439800
91394338500
91394338498
91394338497
91394338499
Answered

3

Options

—_

. Telescopic

N

N

- Teleologic

. Non-distributive

3. Un-approximate

26 g e S AT LT ’
Q Modern educational communication is described as :

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
9139439792
91394338468
91394338466
91394338467
91394338465
Answered

4




Q.27

The next number in the series 12, 15, 21, 33, 57, 15 :
Options1. 1[}?
2. 97
3. 105
4. 95
Question Type : MCQ
Question ID : 9139439797
Option 11D : 91394338486
Option 2 ID : 91394338487
Option 3 ID : 91394338488
Option 4 ID : 91394338485
Status : Answered
Chosen Option : 3
Q28 |y which of the following instances, deductive argument is invalid ?
Options; When its premises and conclusion are all true.
2.
When its premises are false and conclusion is true.
3.
When its premises and conclusion are all false.
4.
When its premises are true but conclusion is false.
Question Type : MCQ
Question ID : 9139439801
Option 1 1D : 91394338502
Option 2 ID : 91394338504
Option 3 ID : 91394338501
Option 4 ID : 91394338503
Status : Answered

Chosen Option: 3

1S :

Opti .
pions ;. Deductive

2. Speculative
3. Inductive

4. Demonstrative

Q.29  The reasoning which would be helpful in seeking new knowledge of facts about the world

Question Type : MCQ
Question ID : 9139439802
Option 11D : 91394338506




Option 2 ID : 91394338508
Option 3 ID : 91394338507
Option 4 ID : 91394338505
Status : Answered
Chosen Option : 3
.30 s iy .
Q If FACE is coded as HCEG, then the code for HIGH will be :
Options - -
1. RN E
2. BEFB
3. JKIJ
4. KHIK
Question Type : MCQ
Question ID : 9139439796
Option 11D : 91394338482
Option 2 1D : 91394338481
Option 3 ID : 91394338484
Option 4 ID : 91394338483
Status : Answered
Chosen Option : 3
Comprehension:
Subject Total Number of | Number of | Maximuny
number of | students students | Full marks
students |who passed| who failed in the
appeared subject
English 600 - 36 600
Mathematics - 240 60 -
Science 300 216 - 400
Social Studies 360 - 48 400
Computer - 168 32 400
Study the table given above carefully. It shows the number of students appeared, passed
and failed in five subjects. The full marks in each subject is also given.
Some of the cells have missing data. You might need to determine some of the missing data
to answer the questions below.
SubQuestion No : 31
Q.31 Which of the following could be the full marks in Mathematics if the pass marks in Mathematics
was 35% and the person who just passed scored 70 ?
Options
1. 600
2200
3.500
4400
Question Type : MCQ
Question ID : 9139439807
Option 11D : 91394338523
Option 2 ID : 91394338524
Option 3 1D : 91394338522
Option 4 ID : 91394338521




Status : Answered
Chosen Option : 2

Comprehension:
Subject Total Number of | Number of | Maximumnmy
number of | students students | Full marks
students |who passed| who failed in the

appeared subject

English 600 - 36 600

Mathematics - 240 60 -

Science 300 216 - 400

Social Studies 360 - 48 400

Computer - 168 32 400

Study the table given above carefully. [t shows the number of students appeared, passed
and failed in five subjects. The full marks in each subject is also given.

Some of the cells have missing data. You might need to determine some of the missing data
to answer the questions below.

SubQuestion No : 32

Q.32 What is the difference between the number of failed students in Science and the number of
passed in Social Studies ?

Options

McQ
9139439809
91394338532
91394338529
91394338531
91394338530
Answered

2

1. 218
2. 228
3. xLZ
4. 238
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :
Comprehension:
Subject Total Number of | Number of | Maximumny
number of | students students | Full marks
students |who passed | who failed in the
appeared subject
English 600 - 36 600
Mathematics - 240 60 -
Science 300 216 - 400
Social Studies 360 - 48 400
Computer - 168 32 400

Study the table given above carefully. It shows the number of students appeared, passed
and failed in five subjects. The full marks in each subject is also given.

Some of the cells have missing data. You might need to determine some of the missing data
to answer the questions below.

SubQuestion No : 33

Q.33 What is the approximate difference in percentage between the pass % in Social Studies and
the pass % in Mathematics ?

Options




1. 2.5%
2.6.5%
3. 16.5%
4.26.5%

Question Type : MCQ
Question ID : 9139439810
Option 11D : 91394338533
Option 2 ID : 91394338534
Option 3 ID : 91394338535
Option 4 ID : 91394338536
Status : Answered
Chosen Option : 1
Comprehension:
Subject Total Number of | Number of | Maximuny
number of | students students | Full marks
students |who passed| who failed in the
appeared subject
English 600 - 36 600
Mathematics - 240 60 -
Science 300 216 - 400
Social Studies 360 - 48 400
Computer - 168 82 400
Study the table given above carefully. It shows the number of students appeared, passed
and failed in five subjects. The full marks in each subject is also given.
Some of the cells have missing data. You might need to determine some of the missing data
to answer the questions below.
SubQuestion No : 34
Q.34 What is the maximum marks that a student can score in all the five subjects together ?
(You may use the answer of the previous question.)
Options
PRons1. 1500
2 1000
3. 500
4. 2000
Question Type : MCQ
Question ID : 9139439808
Option 1 1D : 91394338527
Option 2 ID : 91394338526
Option 3 ID : 91394338525
Option 4 1D : 91394338528
Status : Answered
Chosen Option : 4

Comprehension:




Q.35

Options

Subject Total Number of | Number of | Maximuny
number of | students students | Full marks
students |who passed| who failed in the
appeared subject
English 600 - 36 600
Mathematics - 240 60 -
Science 300 216 - 400
Social Studies 360 - 48 400
Computer - 168 832 400

Study the table given above carefully. It shows the number of students appeared, passed

and failed in five subjects. The full marks in each subject is also given.

Some of the cells have missing data. You might need to determine some of the missing data
to answer the questions below.

SubQuestion No : 35

In which subject, was the failure percent the least ?

1. Science
2. English
3. Mathematics

4. Social Studies

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
9139439811
91394338539
91394338537
91394338538
91394338540
Answered

4

Q.36

The binary equivalent of (—23);,is (2's complement system for negative numbers is used) :

0ptions1v U]. [}1 U

2. 01000

10111
4 01001

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
9139439814
91394338551
91394338552
91394338549
91394338550
Answered

4

Q.37

A Terabyte is equal to :
options, 1024 Gigabytes




2. 1024 Kilobytes

3. 1024 Megabytes
41024 x 1024 Kilobytes

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
9139439813
91394338546
91394338548
91394338545
91394338547
Answered

1

Q.38

Options

1. Paper and pulp
2. Engineering

5. Thermal power plants

4. Textiles

Which among the following industries, consumes maximum water in India ?

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

MCQ
9139439817
91394338564
91394338561
91394338563
91394338562
Answered

Chosen Option : 3

Q39 Which of the given statements are true ?
(@) Modem is a Networking device.
(b)  Modem is a Voltage stabilizer.

Code :

oPtens; (b) and (c)
2. (a) and (b)
3. (a) and (c)

: (@), (b) and (<)

(c) Modem converts analogue signal to digital signal and vice-versa.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

McQ
9139439816
91394338558
91394338557
91394338559
91394338560




Status : Answered

Chosen Option : 3

Q.40 [n 1948, under whose Chairmanship a University Education Commission was set up to
reconstruct University Education in India ?

Options. 1y Vikram Sarabhai

2. Sardar Vallabh Bhai Patel
3. Prof. P.C. Joshi
4. Dr. S. Radhakrishnan

Question Type : MCQ
Question ID : 9139439823
Option 11D : 91394338588
Option 2 ID : 91394338585
Option 31D : 91394338586
Option 4 ID : 91394338587

Status : Answered

Chosen Option : 4

Q.41

Full form of PDF is :
optons; - Portable Document Form
2. Portable Document Format
3. Portable Data Form

4. Portable Data Format

Question Type : MCQ
Question ID : 9139439812
Option 11D : 91394338543
Option 2 ID : 91394338541
Option 3 1D : 91394338544
Option 4 ID : 91394338542

Status : Answered

Chosen Option : 2

Q.42  Assertion (A) : Climate change is going to increase social tension in India.

Reason (R) : The frequency and intensity of the extreme weather events will have serious
consequences for food security.

Code :

PN, (A) is false, but (R) is true.

2. (A) is true, but (R) is false.
3.
Both (A) and (R) are true and (R) is the correct explanation of (A).

4,
Both (A) and (R) are true and (R) is not the correct explanation of (A).

[ Question Type : MCQ




optens; Distributed Name System
2. Dynamic Name Standard

3. Domain Name Standard

4 Domain Name System

Question ID : 9139439821
Option 11D : 91394338580
Option 2 ID : 91394338579
Option 3 1D : 91394338577
Option 4 1D : 91394338578
Status : Answered
Chosen Option : 4
Q.43 An earthquake is rated as ‘major” if its magnitude in Richter Scale is in the range of :
Optlons1_ 60 e 69
2.40-49
3. 550
..70-79
Question Type : MCQ
Question ID : 9139439819
Option 11D : 91394338571
Option 2 ID : 91394338569
Option 3 1D : 91394338570
Option 4 1D : 91394338572
Status : Answered
Chosen Option : 4
Q.44 . "o ETEIT s
e-Pathshala” is an initiative by :
Options1. NCERT
2 UGC
3. CBSE
4. NCTE
Question Type : MCQ
Question ID : 9139439825
Option 11D : 91394338595
Option 2 ID : 91394338593
Option 3 1D : 91394338594
Option 4 ID : 91394338596
Status : Answered
Chosen Option: 1
Q.45
DNS stands for :




Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

Question Type :

MCQ

1 9139439815

1 91394338555
1 91394338556
1 91394338553

: 91394338554
: Answered
Chosen Option :

4

Q46 The biggest hindrance in using biomass as a major energy source is :

Options

1. Energy vield of low level.

2.
Large amount of land required to grow energy crops.

s. Air pollution due to combustion.
a.
Technology not well developed for commercialisation.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
9139439820
91394338574
91394338575
91394338576
91394338573
Answered

2

Q@47 The Council of Rural Institutes Authority is situated at :
Options, - Ahmedabad

2. Pune
3. Ludhiana
4. Hyderabad

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
9139439826
91394338598
91394338599
91394338597
91394338600
Answered

1

Q.48

The first Open University established in India is :

optens1. Nalanda Open University, Patna
2

Bhim Rao Ambedkar Open University, Hyderabad




3. Tamil Nadu Open University, Chennai

4,
Yashwantrao Chavan Maharashtra Open University, Nasik

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
9139439822
91394338582
91394338583
91394338584
91394338581
Answered

2

Q.49 University and University-level institutions are categorised into :

(a) Central Universities (b) State Universities
(c)  Private Universities (d) Deemed-to-be Universities
(e) Institutions of Higher Learning (f)  Civil Sector Institutions
Code :
Options,, (a), (b), (c) and (d)
2 (b), (d), (e) and (f)
3 (), (), (e) and (f)
4.(c), (d), (e) and (f)
Question Type : MCQ
Question ID : 9139439824
Option 11D : 91394338591
Option 2 ID : 91394338590
Option 31D : 91394338589
Option 4 ID : 91394338592
Status : Answered
Chosen Option: 1
Q50 plants suitable for biomonitoring of Sulphur Dioxide pollution are :
Options
1. Tobacco, grapes and garden bean
2. White pine, moss and lichens
3. Tomato and lettuce
s Apricot, peach and gladiolus
Question Type : MCQ
Question ID : 9139439818
Option 11D : 91394338567
Option 2 ID : 91394338565
Option 3 ID : 91394338566
Option 4 ID : 91394338568
Status : Answered
Chosen Option: 3
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Question Type : MCQ
Question ID : 9139439918
Option 11D : 91394338967
Option 2 ID : 91394338968
Option 3 1D : 91394338965
Option 4 ID : 91394338966

Status : Answered

Chosen Option : 1
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
9139439860
91394338735
91394338733
91394338736
91394338734
Answered

3

Q.3
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Options

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
9139439890
91394338856
91394338855
91394338853
91394338854
Answered

3
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Question Type:
Question ID :

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

MCQ
9139439879
91394338812
91394338811
91394338810
91394338809
Answered

3

Q.5

Options
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3 7L
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
9139439835
91394338636
91394338634
91394338633
91394338635
Answered

2

Q.6

Options

¢ oS

UTH S a4
2 SLeety
3. szJ f

4 Klrx

Question Type : MCQ
Question ID : 9139439888
Option 11D : 91394338847
Option 2 ID : 91394338845
Option 31D : 91394338848
Option 4 1D : 91394338846

Status : Answered

Chosen Option : 3

Q.7
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Question Type : MCQ
Question ID : 9139439871
Option 11D : 91394338780
Option 2 ID : 91394338778
Option 3 1D : 91394338779
Option 4 ID : 91394338777

Status : Answered

Chosen Option : 2
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Question Type : MCQ
Question ID : 9139439889
Option 11D : 91394338849
Option 2 ID : 91394338850
Option 3 1D : 91394338852
Option 4 ID : 91394338851

Status : Answered

Chosen Option : 2

Q.9
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
9139439894
91394338871
91394338869
91394338870
91394338872
Answered

3

Q.10

¢ q_./lJ/FUJL‘uﬂrfj

Options
1. L:/] | y Jf(

Question Type :
1 9139439842

1 91394338662
1 91394338663
191394338661
1 91394338664
Status :

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Chosen Option :

McQ

Answered
3

Q.11
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Question Type : MCQ
Question ID : 9139439881
Option 11D : 91394338818
Option 2 ID : 91394338820
Option 31D : 91394338819
Option 4 ID : 91394338817

Status : Answered

Chosen Option : 4
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Question Type : MCQ
Question ID : 9139439847
Option 11D : 91394338683
Option 2 ID : 91394338682
Option 3 1D : 91394338681
Option 4 1D : 91394338684

Status : Answered

Chosen Option: 2

Q.13

¢ e (Il e Qe st

Options .
g f%s,

2 Y

s G
4. u"’j



Arshad Ali
Highlight


Question Type : MCQ
Question ID : 9139439914
Option 1 1D : 91394338949
Option 2 ID : 91394338950
Option 3 1D : 91394338952
Option 4 ID : 91394338951
Status : Answered
Chosen Option : 1
Q.14 . " -
Options
1. ,;.,"L.w
2 ».".JL)f
3 wUla
4 =0
Question Type : MCQ
Question ID : 9139439886
Option 1 1D : 91394338840
Option 2 ID : 91394338839
Option 3 ID : 91394338837
Option 4 ID : 91394338838
Status : Answered
Chosen Option: 3
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Options
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Question Type : MCQ
Question ID : 9139439902
Option 1 1D : 91394338904
Option 2 ID : 91394338902
Option 3 ID : 91394338901
Option 4 1D : 91394338903
Status : Answered
Chosen Option : 2

Q.16
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
9139439884
91394338829
91394338832
91394338831
91394338830
Answered

4

Q.17

¢ q..:.u‘(ygfbﬂ
1. ‘:"..L"'p
2 el f

Options

3

(%ol
4. ,._*;,.[rln',aj

Question Type :
Question ID :
Option 11D :
Option 2 ID
Option 3 ID
Option 4 ID

Status :

Chosen Option :

MCQ
9139439910
91394338936

1 91394338935
191394338933
1 91394338934

Answered
3

Q.18
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Question Type : MCQ
Question ID : 9139439848
Option 11D : 91394338686
Option 2 ID : 91394338688
Option 3 1D : 91394338685
Option 4 ID : 91394338687
Status : Answered
Chosen Option: 3
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Question Type : MCQ
Question ID : 9139439917
Option 11D : 91394338961
Option 2 ID : 91394338962
Option 3 1D : 91394338964
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Option 4 ID : 91394338963
Status : Answered
Chosen Option : 3
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Question Type : MCQ
Question ID : 9139439857
Option 11D : 91394338721
Option 2 ID : 91394338722
Option 31D : 91394338723
Option 4 ID : 91394338724

Status : Answered

Chosen Option : 4
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Question ID : 9139439909
Option 1 1D : 91394338929
Option 2 ID : 91394338932
Option 3 ID : 91394338930
Option 4 ID : 91394338931
Status : Answered
Chosen Option: 1
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Question Type : MCQ
Question ID : 9139439875
Option 1 1D : 91394338794
Option 2 ID : 91394338795
Option 3 ID : 91394338793
Option 4 ID : 91394338796
Status : Answered
Chosen Option : 4
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Question Type : MCQ
Question ID : 9139439893
Option 1 1D : 91394338867

Option 2 ID : 91394338865
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Option 31D : 91394338866
Option 4 ID : 91394338868
Status : Answered
Chosen Option : 1

Q.24
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Question Type : MCQ
Question ID : 9139439913
Option 1 1D : 91394338945
Option 2 ID : 91394338947
Option 31D : 91394338946
Option 4 1D : 91394338948

Status : Answered

Chosen Option: 2

Q.25

Options
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¢ e L Uity #

Question Type : MCQ
Question ID : 9139439845
Option 11D : 91394338674
Option 2 ID : 91394338673
Option 31D : 91394338676
Option 4 ID : 91394338675

Status : Answered

Chosen Option : 2
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Question Type : MCQ
Question ID : 9139439916
Option 11D : 91394338958
Option 2 ID : 91394338957
Option 3 1D : 91394338959
Option 4 1D : 91394338960

Status : Answered

Chosen Option : 2
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Question Type : MCQ
Question ID : 9139439908
Option 11D : 91394338928
Option 2 ID : 91394338926
Option 3 1D : 91394338927
Option 4 ID : 91394338925
Status : Answered
Chosen Option : 2
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Question Type : MCQ
Question ID : 9139439849
Option 11D : 91394338691
Option 2 ID : 91394338692
Option 3 1D : 91394338690
Option 4 1D : 91394338689
Status : Answered
Chosen Option : 3
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Question Type : MCQ
Question ID : 9139439839
Option 11D : 91394338652
Option 2 ID : 91394338649
Option 3 1D : 91394338650
Option 4 1D : 91394338651
Status : Answered
Chosen Option : 2
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Question Type : MCQ
Question ID : 9139439895
Option 11D : 91394338874
Option 2 ID : 91394338875
Option 3 1D : 91394338876
Option 4 1D : 91394338873
Status : Answered
Chosen Option : 2
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Question Type : MCQ
Question ID : 9139439915
Option 11D : 91394338956
Option 2 ID : 91394338954
Option 3 1D : 91394338953
Option 4 ID : 91394338955
Status : Answered
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Chosen Option : 3
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Chosen Option

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

14

McQ
9139439925
91394338993
91394338994
91394338995
91394338996
Answered
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Question ID
Option 1 ID
Option 2 ID

Option 4 ID
Status

Question Type :
: 9139439856

191394338717
191394338719
Option 31D :

McQ

91394338718

1 91394338720
. Answered
Chosen Option :

4
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Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :
Chosen Option :

MCQ
9139439844
91394338671
91394338672
91394338670
91394338669
Answered

3
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Question Type : MCQ
Question ID : 9139439877
Option 11D : 91394338802
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Option 2 ID : 91394338804
Option 3 1D : 91394338803
Option 4 ID : 91394338801
Status : Answered
Chosen Option : 3
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Question Type : MCQ
Question ID : 9139439923
Option 11D : 91394338987
Option 2 ID : 91394338986
Option 3 1D : 91394338985
Option 4 1D : 91394338988

Status : Answered

Chosen Option : 3
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